8 7 6 5 . 4 3 | 2 | 1
ED ANGLE MOUNT INSTALLATION INSTRUCTIONS:
A A AL MO ERACKET AGAWST
e PINCH PLATE '

2. USING 9/32" DRILL BIT (OR OTHER DRILL BIT GIVING
DIAMETER BETWEEN 0.26" AND 0.28"), DRILL (4X)
HOLES IN THE MOUNTING SURFACE THROUGH THE
SLOTS IN THE BRACKET (ONE HOLE IN EACH SLOT).
MAKE SURE BOTH TOP HOLES AND BOTH BOTTOM
HOLES ARE HORIZONTAL WITH EACH OTHER.

3. PLACE ONE PINCH PLATE BEHIND THE MOUNTING
SURFACE. FASTEN THE BRACKET TO THE MOUNTING
SURFACE USING (2X) 1/4-20 X 3/4" HEX BOLTS AND #12

S T
O o

G\

1/4-20 X 3/4" HEX BOLT

#12 FLAT WASHER

FLAT WASHERS.

4. REPEAT STEP NUMBER 3 WITH THE OTHER PINCH

PLATE IN THE 2 UNUSED HOLES.

5. TIGHTEN ALL FASTENERS TO THE APPROPRIATE

INDUSTRY STANDARD.

HARDWARE KIT CONTENTS:

DESCRIPTION QTY.| [PRODUCTI.D. DATE
HEX BOLT - 1/4-20 X 3/4" 4 C-HDM-124 |3-06-2024
WASHER - #12 SAE FLAT - 1/4"1D -9/16"OD -.051"-.080" THK 4

PRODUCT NAME

DRAWING NUMBER:
C-HDM-124-INST

WARNING: ALL HAVIS INC. PRODUCTS ARE DESIGNED WITH SAFETY OF USE AND INSTALLATION IN MIND. HOWEVER,
IT IS THE SOLE RESPONSIBILITY OF THE OWNER/OPERATOR OF A VEHICLE USING HAVIS INC. MOUNTING AND
DOCKING EQUIPMENT, TO INSURE THAT THE EQUIPMENT IS INSTALLED SO THAT IT WILL NOT INTERFERE WITH VEHICLE
OPERATION, INTERFERE WITH SAFETY DEVICES, OBSTRUCT VIEW OF DRIVING CONDITIONS, OR IN ANY WAY
DEGRADE OCCUPANT SAFETY. IMPROPER INSTALLATION CAN CAUSE SERIOUS INJURY IN THE EVENT OF AN
ACCIDENT. INSTALLATION SHOULD ONLY BE PERFORMED BY QUALIFIED PROFESSIONALS. COMPUTERS AND
MOTION DEVICES MUST BE MOVED TO AND STOWED/SECURED IN THEIR SAFE DRIVING POSITIONS BEFORE
OPERATING VEHICLE.

PRODUCT DESCRIPTION

FIXED ANGLE MOUNT

WEIGHT: (LBS)
FIXED 90-DEGREE MOUNT USED FOR
VARIOUS WALL MOUNTING. HAV IS REVZE')ifE
1-800-524-9900 3_24
WWW.HAVIS.COM

T 5 5 t 4

F-730-019 REV A



	Sheet1
	Drawing View2
	Drawing View3


